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INSTRUCTIONS
Answer all questions. .
All questions carry equal martks.
Only one answer is to be given for each question.
If more than one. answers are marked, it would be treated as wrong answer. )
Each question has four alternative responses marked serially as 1, 2, 3, 4. You have to darken -only one
circle or bubble indicating the correct answer on the Answes Sheet using BLUE BALL POINT PEN.
1/3 part of the mark(s} of each question will be deducted for each wrong answet. (A wiong snswer
means an incorrect answer or more than one answers for any question. Leaving all the relevant circles or
bubbles of any question tiank will not be considered as wrong answer.) )
The candidate should ensure that Series Gode of the Quastion Paper Bocklet and Answer Sheet must be
game after opening the enwelopes.. In case they are cifterent, a candidate must obtain another. Question
Paper of the same series. Candidate himself shall be responsible for ensuring this.
Mobile Phone or any other electronic gadget-in the examination hall ig strictly prohibited. A candidate found
‘with any of such objectionable material with hinvher will be strictly dealt as per rules. )
Please corectly fill your Roll Number in O.M.R. Sheet. & marks will be deducted for filling wrong or
incomplate Roll Number. )

10. If there is any sort of ambiguity/mistake either of pl"inling. ‘or factual nature then out of Hindi and English

Version of the question, the English Version will be freated as standard.
Warning : It a candidate is found copying or if any unauthorised material is found in hisher possession,
: F.i.A. would be lodged against him/het in the Police Station and ha/she would liable to be prosecuted
under Section 3 of the R.PE. (Prevention of Unfairmeans) Act, 1922. Commissioh may also debar
him/her permanently from ali future examinations of the Commission.
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1 Assertion (A) - Keys are the taxonomical ajg used for identifi Icatis, '

plants and animals.

Reason (R) - Keys are based on the Conirasting characters generally in
pairs.

Selgct thg _cor;eqt _ansv.ver“.ps.in‘g.the codes _gi.ven. below :

(1) Both (A) and (R)I:_:z‘_l_'rs_.trqe_and (R) explains (A)

(2) Both (A) and (R) are true byt (R} does not explain (A)
() (A) is true ang R} is false |

(4) (A) is false and (R) is true

BT (A) mwaﬁaﬂummmﬁ%a’rwerﬁgeﬁa%
mw%gamﬁeﬁaﬁﬁ%l
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A

onsider the following statements :

Systematics is the study of diversity of organisms and their evolutionary

relationship.

(iiy The word 'systematics' has its origin from the Greek language.

(i) The word 'systematics' was first used by Carolus Linnaeus.
3 Which of the above statements ié/are correct 7
1) @ only
@) (i) only
3) () and (i) both
(4) () and Gii) both
Prefafies waa W faER @R
G) i vahn (i), e o fafre T w1 s
| ‘ e ¥
3 iy Redfmw = # s AE W ¥gn

! iy il = @ wwd v Hdww fibae e R
TREm Y A/ A e A ¥/ ¥ 7

(1) @) &«

() (i) Had
@) O T Gi) IR

@) @) T (i) O
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3 - Bacteria are classified in the kingdom -

(1)  Animalia (2)  Fungi

(3} Monera (4) Protista
sty gy B o ¥

O el s @) HE s

G) A ¥ @ vfwr o ¥

4 Clﬂorophyll 2 + ¢ are found in -

(1) Rhodophyceae (2) Phaeophyceae
(3)  Chlorophyceae (4)  Cyanophyceae

RN 2 + c T Wi 3 ;

(1) WSreRdr ¥ (2) Tramedr §
®) TR ¥ @ i § f

S Presence of archegonium is a common feature of -

€3 Alg_ae, Fungi and Bryophytes

(2) Fung, Bryophytes and Pteridophytes

(3) Bryophytes,. Pteridophytes and Gymnospérms
4 Pteridophytes, Gymnosperms and Angiosperms

() Ry, %ﬁ@ws@aﬁtﬁmﬁqﬁ
) %ﬁéﬁnﬂmﬁmﬁmﬂqaqﬁammﬁqw
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ascular tissues are present in :

(1) Pteridophytes, Gymnosperms and Angiosperms
(2) Bryophytes, fteridophytes and Gymnosperms
(3) Algae, Bryophytes and Pteridophytes

(4) Fungi, Algae and Bryophytes

e oa® U I ¥ :

(1) ey, g q q%rchmﬁﬁ #

@) TEeEE, REwEE o et #

@) da, SEwEEEE q HEemew A

(4) weawr, e .a FAGEZE

Double fertilization is characteristic feature of :
(1) Gymnosperms (2) Angiosperms
(3) Bryophytes ‘ (4) Pteridophytes

S fafre @ ¥

() Ry o @) ufsrEedg B

(@) WEEEE B | @) e

Which of the following mollusc has an internal shell™?’

(1) Nautilus @) Tereds i
(3) Sepia _ (@) Lamellidens 1

ﬁwﬁ%ﬂﬂﬁﬁwﬁm&mm(ﬁ)w,@m%?

4y BLESES (2) P EEe
(3) e @) g et
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9 Mast cells secrete

(1) Thromboplastin (2 Heparin

(3) Endorphin ) Y-Amino butyric acid
TR WA B w3

() s @ feife

() Terfem @) ey i sy

10 The type of r(_espiration fdund i Taenia solium (Tape worm) is -
¢)) | Aerobic (2). Endorespiration
3) Scotorespira_tion_ (4)  Anaerobic
-éﬁw%w(ﬁmﬁ)ﬁm&wﬁaﬁswmm%n
(1) gy @) oy

G) v 4)  orargyTET

I When the flowers are arranged in basipetal order, the inflorescence is

termed as
1) ng%ge (2) Cyathium

(3) Racemose (4)  Verticillaster |
wgwamﬁmﬂmﬁaaﬁaa@ﬁ%,mgwmm%:
(1) =R 2)  wwfm

(3) o | : 4) Peamw
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terile stamen is Termed as :

(1)  Style (2) Stigma

(3) Staminode (4) Synandrous
(1) @ R

(3) wiFs | - (@) FReosE

. - a
e oy T e
ST o R (R L

g
TR

R E

13 Drupe type of fruit is found in :
(1) Banana and Apple’ (2) Mango and Coconut

(3) Tomato and Brinjal (4)I ‘Wheat and Rice

S

ST TER ® BW T™T W T

(1) @@ 9 a9 A Y@ am T A ¥
@G TXIFIWE 0 @) WT gEw A

; 14 Which of the following organisms are examples of prokaryotic cells ?
(1) Bacteria and mycoplasma
j (2) Blue green algae and red algae
\ (3) Mycoplastna and fungi -~ . i
(4) Virus and brown algae B
Prfifan e & & ordebee BR@RN B o A9 A ¥ 7
(1) Ty 7 TR | s
@ W g dE T S?ﬁﬂ?l T | T
(3) WEHHT q Hech | o
(4 R g gl e
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The cell organelle responsible for cell plate formation at the time of cell
division is :

(1)  Chloroplast (2) Endoplasmic reticulum

(3) Golgi body (4) Mitochondria

S freE % @ ae ek el ¥ s S
(1) TR @) wRreE T

(3) T wH (@)

In meiotic prophase I, there are five sub-stages

(i) Pachytene : ' (ii) Zygotene

(iii) Diplotene ~ (iv) Diakinesis

(v) Leptotene

The correct sequence of these 5 sub-stages is :

Q) @ G, 6@ @) @ |

@ G, G, &), @), O

@) v, O W), @, G

@ ), G, 0, @@, )

sty R @ e 1A 9 Sv-sEeang Bl ®

() weEA | (i) TEIEE
(i) | (iv) SHEHEARE
'(v) AT

T 5 Su-—erEeel @ WY HH B %
M @, Gi), @, ¢, )
@ @), GiD), @), ), O
@) Gv), G), ), @D, (i)
@ ), G, O, @, )
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Which of the following cell organelle possesses a single unit

membrane ?
(1) Chloroplast (2) Lysosome
(3) Mitochondria (4) Nucleus

ﬁﬁﬁf@aﬁ@ﬁﬁmaﬁfﬁmwﬁﬂwm'%ﬁm%é

(1) R (2) wEEEE
(3) wRImifear 4 Ry

In mitosis, the number of chromosomal and nuclear divisions,

respectively, are :

(1) one and one (2) one and two

(3) two and two (4) two and one

- RN ot ¥ porpha o St Romeet o dom mhw o %

() = 3 s @ waw

G FATF - 4 &« T uF

Site of protein synthesis in a plant cell is :

(1) Golgi body (2) Lysosome
(3) Mitochondria (4) Ribosome
Wﬁﬁmﬁm‘dﬁaﬁﬁwmmﬁm%:
(1) TSl s 2) <EEEw
() R (4) e

HBS2 A] 9

[ Contd...



20  When the position of centromere in a chromosome is in the middie

21

part, the chromosome is termed as

(1) Acrocentric . (2) Acentric

(3) Metacentric | | | (4‘). - Telocentric _
_Wwwﬁmaﬁﬁaﬁrmwwﬁaﬁ%,ﬁmw
HEART ¥ : |

M w0 e

@) uemfew @ einfes

Antidiuretic hormone is synthesized by
(1) Pars distalis

(2) Pars intermedia

(3) Pars nervosa . .,

(4) Neurosecretory cells of hypothalamus

WAt wﬁ-rrwr Hyew feed zma s %?

). e fRfm

@ W Fhim

® W

4) Elsq’r&?fw £l aﬂ%m BT HIVRRT &R

During’ relaxation of a muscle the ions pumped back_'i'n't'b the sarcoplasmic
reticulum are that of -

M g g
@) K+ o @ Mot
e & R % e R o 9 At s ¥ g T
frr o 3, 3 % ‘
(1) Cat+c (2) Mgt
@G K+ (4) Mn*t
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23 The pH in the healthy human stomach and intestine are respectively :
(1) Acidic and alkaline (1.8 and 7.8)
(2) Alkaline and acidic (7.8 and 1.8)
(3) Acidic in both (1.8)
(4) Alkaline in both (7 8)
W%Wmamamm%ﬁmﬁmmﬂ é’l‘c‘i’r%
(1) orcts wem @wdE (18 and 7.8)
(2) @rdw wur I (7.8 and 1.8)
(@) QA ey H GWﬁHI(I.S)
(4) <= & o A0 (7.8)

24  Which cells of islets of Langerhans secrete hormone Gastiin ?

(1) o - cells 2 B - cells

G) § - cells (4) Goblet cells

A & A A A R W el b e
1) o - Wi @ B - a?rfémv.

6) 5 - B @) e BT

25 In Krebs cycle, a 6-carbon compound is formed by the combmatlon of

acetyl co A and s
IV 31

(1) Succinic Acid (2) Oxaloacetic Acid
(3) Citric Acid (4) Malic Acid

e o U 6—%%%%%@#@@%%%%%
W dar ¥ .

(1)«%&%% (2)@@@@%%
@¢) Rifzs ot (@) Aesw e
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26 Mammals have the ability to produce concentrated urine. In doing so
successfully the following structure plays a significant role :

(1) Bowman's capsule
(2) Columns of Bertini
(3) Henle's loop and vasa rectae

(4) Medulla and cortex of kidney

W ARl w9 S SO B W §EW B ¢ | UE Sweagdd el o
Frefrs s & weegy qim B ¥

(1) /7 & wge
(2) S B
(3) T W W qWr g &X

4) quwiﬂﬁma@—c.'

27  G-proteins in cell function as :
(1) Carrier proteins
(2) Enzymes
(3) Signg}_l_liqducer and modulator

(4) Facilitator of protein synthesis

wfmEE ¥ G RE ® B ¥
(1) wawEd WA &

() %"WYW

(3) HaY U ST Tawre

(4) WA HWWO &H WELH
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28 Which of the following are means of vegetative propagation ?
(1) Bud and Seed (2) Gamete and Bud
(3) Rhizome and Gametes (4) Runner and Rhizome
P ¥ & i gt % wem A A 7
() o 9 9 2 g q m&m

B) "< ¥ gEH (4) SURE ¥ @<

29  Asexual reproduction in Chlamydomonas takes place by means .of :
(1) Bud - (2) Conidia
- (3) Gemmule (4) Zoospores
L S QL RN o g |
(1) = aw @ @
@) S oEm (4) weeTel ar

30 In a typical anther of angiosperms, the number of microsporangia is :
(1) one . 2) two
(3) tilree | 4) four
L JE IR L W W T S G M«
(1) & | 2

@) dw @) [
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31 Consider the following statements :
(i) Gametes are always haploid
(i) Male gametes are always motile in all the plants

(iii) Female gametes are always larger in size as compared to the male

gametes in higher plants
Which of the above statement/s is/are correct ?
(1) () only
(@) (i) only
() () and Gi) both
@ () and (i) both
frafafan o w far $iRm
() T e ATPE @ ¥
@ “meﬁﬁmaﬁm%a—a%.

(i) Trar e goT wEd ¥ g TC gl A gEn § 9 SR %
SRk

TR A A AW VBT A E T 7
(1) (i)%ﬁ |

2) (i) o

(3 @) 7 (i)

@ () 9 (i) 9=
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32 In angiosperms, zygote divides -mitotically to give ‘rise to ¢
(1) Embryo . :4{2) Endosperm L
(3) Fruit ' S (4)_ Ovule o
M o™ R |
() 4) e

33 Pollination with the help of water takes place in : e
(1)  Triticum and Hordeum (2) Pisum and:Helianthus -
() Helianthus and Vallisnaria  (4) Iﬁ{{i{ﬁgﬁa and {{ydrilla
(1) RRw7 7 aidkay # @) wEEw & e #
() kg 7 g F @) R

34 In anglosperms a typlcaI embryo sac at mafunty is : “
1y 8- nucleate 7 aelled - T owE
2y 8- nucleate, § - _cell_ed ST e o AT e
(3) 7 - nucleate, 8 - celled g
(4) 7 - nucleate, 7 - cei!ed ) s

e 3, o war e o A, G b -
(1) 8- %o, 7 - sy TEH

@) 8 - dwdi, 8 - S B

@) 7w, & - B

@) 7 - FEr, 7 - Wi
U882 A | 15 [ Contd...



35 Which one of the characters of pea was NOT studied by Mendel ?

(1) Cotyledon colour .  (2) Pod shape
 (3) . Seed colour . ~ (4) Seed shape
 frefitae & & B, qaawmmﬂaa%wa@rfm ?
(1) o B (@ W B S
(3) €T H LT , (4) & B A

36 In pea, dwarfness of plant is :

(1) Dominant ch'afacter (2) Recessive character
@) Incomplete dommance (4) Co-dominance

wex o, Ny & I %

(1) wAEN W (2) SUNEl |

@) ot T @) s s

37 IfF, generation pea plant, obtamed by crossing pure red and white flowers,
is self fertilized, the genotypic ratm of its offspring would be :

1 1 pure red : l white
2) 3 pure red : 1 white
(3) 1 pure red : 2 Impure red : 1 white

(4)' 1 Impure red : 2 Pure red 1 whlte

uﬁ:@g@mﬁa@ﬁgﬂxﬁwéw Flrﬂﬁr%m%ﬂi‘r@(
ﬁw—ﬁﬂaﬁam%,ﬁwmﬁﬁhﬁwajmm

(1) 1 9= ¥« : 1 9%
) 3 gE W 1 @6
(3") [ g W 2 AYE O ;1 ¥
@ 1 S5E o ;2 9 9w : 1 e
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38 'Chromosome theory' of inheritance was proposed by :
(1) Bateson and Punnett
(2) Britton and Davidson
(3) Schleiden and Schwann

(4) Sutton and Boveri

angaifiear @ ToE o wega fem omn an
(1) S2ET 9 YT aW

(2 Brew 7 eEw T

@) @R ¥ @ s

@) w9 s9d T

39 Consider the following statements :
(i) Sex determination in human beings is of XY type.
(i) There are 23 pairs of autosomes in human beings.
(itf) There is male heterogamety in Human beings.

Which of the above statements is/are correct ?
(1) () only (2) (i) only
(3) (i) and (i) both @) (i) and (iii) both
Prfifee @t T Rrame AR
@) wrar # fi fruRer XY wer @ dar 1
(i) wFEl ¥ o TURGH (eferErE) ¥ 23 W OB ¥
(iii) weEl § 90 fremgman @EERE) @ #) |
TR A I W/ T PAT Gg & [ T 7
(1) (@ %W 2) (@) daw
3 @ = @) @ (@ T (i) A
HBS2 A | 17 o [ Contd...




40

41

Tendency of two or more genes, located on the same chromosome, to remain
together during inheritance is known as :

(1) Epistasis

@) Compl'ilment'ary genes
(3) Linkage

(4) Supplementary genes

%ﬁwwﬁﬂﬁﬁmmmmmm%ﬂmmﬂ
Eﬁa%’ruqf%rﬁwrﬂm%

(1) 9wt

- @ S|

(3) dat

¢4 T S|

The hypothesis that "the early atmosphere of earth combined with an energy
source produced organic monomers” was proposed in 1920s by :

(1) Curie and Pasteur

(2) Fox and Pauling
(3) Miller and Urey

(4) Oparin and Haldane

b e & o gk % o A & T o e
gﬁﬁ%wﬁj’sﬁu&mmﬂmo%wﬁmﬁam:

(1) w8 T T A

@ e g T

@) P w

@ i & wwsA o
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42 Identify the correctly matched ﬁéiiJr‘;:___' _

it e e e e
R TS R e P M R AT

(1) Parkinson's disease Defect of brain

(2) Blindness Degeneration of corpus callosum

(3) Schizophrenia ~ Non functional Broca's area

(4) Increased activity of gut, Activation of sympathetic nervous
iris and urinary bladder system

T S BT B .

(1) uEiEe =l Hiaws R

2) U iy e B AUTAT

@) i e A T orEy B

@) siradl, it T gt =g d% # whem

g & fearelt ¥ gy

43 A normal ECG (Electrocardiogram) is composed of :

M
@
()
(4)

P, Q and T waves
P wave, QRS complex and T wave
PQ, RS complex and T wé.ve

T wave, SR complex, QP complex

M
)
()
4)

HBS2 A]

P, Qua T ot &

P aim, QRS iew dn T @7 ¥
PQ, RS wfew wam T a¥7 &

T @@, SR T, QP wfew ¥
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44 Hyper secretion of “growth: hormiéne’ in ‘humans after puberty is the

cause of
(1) Giantism (Gigantism) (2) Dwarfism
(3) Being a eunuch - @ Acrpmcgaly

e B AR % AR gE S b ot wihE o %
SO B ¥

(1)' affererad (SIS | ) athvr.

() TgEH &M (4) UmREE

45 Select the correct pair of bacteria and the disease caused by it :

(1) Mycobacterium — Diphtheria

(2) Vibrio cholera —  Tuberculosis

3) Mycobacterium leprac  —  Whooping cough
(4) Treponema palladium —  Syphilis

e Fo T wWq W el F e SR B e &Y

(1) TERBARER — fewfe
@ Tl s —  EEE

@) wRwRw AR — g @ (g )
.(4) A A —  Tufsferm
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46 Convex lens should be prescribed to person. suffering from : -

47

48

(1) hypermetropia (2) reduced intraocular pressure
(3) myopia : (4) exophthalmic goitre

mwcm)ammmﬁwﬁmﬁ@mﬁwam
e ¥ P e o

(1) =T Fgfe (sl wvd)
(2) o =Wy TR A HA

3) F@e i |

() S ¥

Identify the genetic disorder due to mutation of dominant gene of 4%
chromosome in human :

(1) Alkeptonuria _ (2) Huntington chorea .
(3) Wilson's disease © (4) Albinism

ngwﬁwx@)ﬁmwhﬁﬁaﬂﬁaﬁhéﬁ%wwaaﬂm
st wRefR

(1) uwHEaE ) sa:maﬁm
@) T @ @ goud Q)

Muga silk is obtained from cocoons of : _
(1) Bombyx mori (2) Antharaea paphia
(3) Atiacus ricinii (4) Antharaea assama

qu W e e e ¥ _
() aomed N BT & () g v ¥ e ¥

0) Qow RRA S BET ¥ () TR g F B
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50

51

Plants adapted to grow in acidi¢ soil are termed as :
1) Halophytes. (2) Heliophytes
(3) Oxalophytes- (4) Psammophytes
sl g ¥ W 9@ ORY wEAR ¥ :

(1) IEEE : (2) WfEreEE
() eI 4) weReE

Viviparous germination is found in :

(1) Halophytes (2) Hydrophytes
(3) Mesophytes (4) Psammophytes
NaYSTH SPT 4T el ¥

() ¥WwEm A (2) wEsheEE ¥

) HewEE § @) ¥y

Which of the following soil-types has maximum water holding capacity ?
(1) Clay (2) Loam
(3) Sandy 4y Silt

Proffa o @ A @ T — TR ¥ il S o ww A ¥ 2

(1) TR () () zuz (dm)
(3) =g (Gvd) @ = ()
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52 The phytoplanktons in the ponds act as :

(1) Producers (2) Primary consumers
(3) Secondary consumers (4) Decomposers

T & TR - A wE B E o

(1) SuEs & wy N ) maﬁwmﬁaﬂaﬁ%wﬂf

@) Tl swiemel B W A 4) owwmeat ¥ @y ¥

33 The efficiency of an ecosystem is best depicted by pyramid of :

(1) Biomass (2) Energy

(3) Number (4)  Volume

T wiRafow 9 B cwm wew v @ vl adr b
() s "o ffe @ 2 wut frofe g

(3) den e 4y omaw frafe TZo

354  Which of the following is a correct sequence of food. Chain ?

-_(1) Insect — Fish — Zooplankton — Phytoplankton

) Fish N Zoopiankton — Phytoplankton —s Insect

(3) Zooplankton - Phytoplankton — Fish — Insect

(4) Phytoplankton —s Zooplankton — Insect — Fish
Frafefes & & o @ @ g By ¥

() B - T - TYEED s TEITTE

Q) B - FgETE o TRUTEE - FE

3) GITQ’W - TRIET®R — 9850 — BT

(4) TRTET® - TgTEh - dE — TE

HBS2 A ] | 23 | . [Contd...



S5 In a grassland ecosystem, rabbit acts as :

37

HB82 A] _ 24 [ Contd...

(i) Decomposer (2) Primary consumer

(3) Secondary consumer (4) Producer

g & T e @5 ¥, iy | @i ¥

) wabe STHle & 'Y A
(3) Tedrs Suwier & wW ¥ (4) m%m-ﬁ‘

(1) oqaes & &7 H

Planula is a larval stage of

(1) CQébkelia (2) Taenia

(3) Ascaris (@) Pheretima
e Ewar ereren ¥

Ay ordfrr & @ w7
@) IORT 7 “) WeRw @

What is true about Archaeopteryx ?

(1) Connecting link between reptiles and mammals
(2) Fossils of coenozoic era

(3) Flying dinosaur

(4) Connecting link between reptiles and birds

NREATT & I H =1 g & 7
(1) wdgd 3 = # Sied T &9t
(2) Reniks s@ &1

(3) SSAR SEAEIR

@) wigw 9 il & Siehar SEy



58 Match correctly the animal with their larval forms -

O  Palinurus @)
(M) Squilla _ (b)
() Asterias | (©)
(V) Aurelia ()
(V) Taenia | | ©
Code : |
1) @ ®), 4D @), (1) (), AV) @
@ O @, A (c), (D) (b), (IV) (d)
G) (&), Y (a), A (c), AV) Bb)
@ D@, dD (e), (D (@), AV) (c)

Alima
Phyllosoma
Ephyra
Hexacantk

Bipinnaria

» (V) (d)
» (V) (@
» (V) (&)
, (V) (b)

e g 9 O WRAT % W @ 98 AW ¥

O g () @) e
@ s ®)  foiair
m RRag (© FomaT
V) it @
(V) © FERARE
7 :

M @6, @ @ @D @), @) © (V) @
® 0@ @E. a6, av @, v) @
G) O @ @ @, A ©), AV) G), (V) @
@ O @ ()@, @, av) ©

HBS2 A |
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59

60

The following characters of a group of vertebrate animals ectoparasite on
fishes, body elongated, devoid of scales and paired fins, bearing 6-15 gill
slits, mouth circular, sucking without jaws, will be included in

(1} Choudrichthyes (2) Osteichthyes
(3) Cyclostomata (4) Gnathostomata

Wﬁﬁ%@ﬂﬂ?%ﬁﬂm'aﬁw“wqﬁzﬁ,
wdRfa, sdi qen gima w1 oWE, 6-15 wm R, g@ TN,
) THR & aur s @a T omEm WX abdfa wn

(D | HgHaEy | (2) oReHaES
(3) TR @) TWeORmE

Consider the following statements :

() Caryopsis is characteristic feature of Asteraceac
(i) Lodicules are pr(;sent in Poaceae

(iify Flowers are epigynous in Apiaceae

Which of the above statements is/are correct ?

(1) @) only () (i) only

(3) (i) and (ii) both (4) (i) and (iii) both
faafifgs was o few F6E

G) wicifae, eE @ fiiite wem ¥

(i) wiRkegrw, Tod ¥ swRew W ¥

(i) cfred ¥ wEiuiE 7 A ¥
SRR E TR NE R R RN

(1) () ww @) (i) %=

(3) (i). T (i) 2 @ ) T () A
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61 Match List-I with List-If and select the correct-answer _y_sing_t,hq codes given
below the lists :

List-I (Family) List-Il (Character) -
(A) Apiaceae . i) Apocarpous ovary
(B) Asteraceae (i) Spikelet inflorescence
(C) Poaceae (iii) Stylopodium

(D) Ranunculaceae " (v) Syngenesious stamen
Code : |

(I (A)-G), @)D, (O)-ii), (D)-(iv)

2y (A3, (B)-(1), (O)-(v), (D)-(ii))

(3)  (A)-iD), (B)-Gv), (O)-(i), D)-(1)

(4)  (A)-(v), (B)-(iii),l (C)-(D, (D)-(i)

-1 qar gA-1 @ g Al T gl & AR RE T g W
I R BC W T B oA B |

-1 () e ()
@A) e @ Frgmwst
(B) uwEE () =i g
(C) ey (i) wEwaEn
D) g (iv) gwe ghat
5 :
(1) (A0, @)D, (OHiil), D)-iv)
@ (A, B)-G), (C)-Giv), (D))
B)  (AXGi), BHiv), O, D)-G)
@) (A)-Gv), B)-Gi), (C)-G), (D)-(ii)

HBS2 A |
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62 1In dlﬁ'erent genera of which family, more than one type of placentation,
namely marginal, axile “and ‘basal ‘types are found ?

(1) Apiaceae (2) Asteraceae
(3) Poaceae 4 Ranunculaceae

%ﬂ@ﬂsﬁﬁma&ﬁﬁ@ﬁmﬁam Se-dmr, wﬂﬂaamemr&u
JreE T oS €7

(1) wi Q) T
(3) TaH ' @ gTowd

63 Immunoglobulins are produced by :
(1) Natural killer cells (N K Cells)
(2) Memory celis
(3) Cytotoxic cells

(4) Plasma cells

Emﬁﬂiﬁﬁ'ﬁ'ﬁ? H IUET W T

(1) wphm A wfmwd (N K Cells)
@ W R
(3) wRddtRE B

(@) e LAt ican

64 Wﬁch one of the following 1s not an infections_ disease ?
(1) Cancer (2) Common cold
(3) Swine flu (4) Tuberculosis
Frerife Fe O W T ¥ 2
M ROl 2) T G
(¢) @ &
HBS2 A] _ 28 [ Contd...



65 A colour blind male (human) mames 2 normal VLSloned‘femaIe How many

66

of the daughters will be carries of this tralt ?
(1) 100% Q) 75%
(3) 50% @ 2%

TF T @l () o far e e gie awt e A @
Wl & el geRll # Rt afvem i & aes e ?

(1 100% @ 75%

(3)  50% 4) 25%

Cotton is obtai.ned' from the surface of :
(1) Fruits of Gossypium species

(2) Stem of Grewia species.

(3) Seeds of Gossypium species

(4) Stem of Corchorus species

® WK W AW §

() TR TRE % B W waE A
() e vonfet & o B waE F
() W wental & = @) GdE o

(4) FReg wSRE ¥ i & 99 QA
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67

68

Main difference in the chemical constitution of wheat and rice is the

presence of :

(1) Glucose in wheat and its absence in rice

(2) Glutenin in wheat. and its absence in rice

(3} Proteins in wheat and its absence in rice

(4) Starch in wheat and its absence in rice

T O uEE & Wb W ¥ W ew ¥

() ¥ A g A s ol T ¥ s sy
2) ﬁiﬁwa;éﬁwﬁwﬁa&r@wﬁwﬁmw&r
@) T T A B suafy o wew ¥ gEad emuRefy
@ W ¥ wd @ SRl o wew ¥ swed ergeRafr

Which of the following plant part of Withania somnifera is used for
medicinal purpose ?

(1) Root _ (2) Stem
(3) Flower _ | (4) Fruif

ﬁ%ﬂﬁﬂwmw%ﬁqﬁmﬁwmﬁ
Sug H faar sy ¥ 7

(1) =% & @ =@

G mwma @ v @
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69

70

7

Gum guggal is obtained from :
(1) Commiphora wightii (2) Convolvulus arvensis

(3) Grevillea robusta @) Guazuma ulmifolia
e e ard far war ¥

(1) @hflwla ad I Q) @iagE m&'ﬁw%
() PFrfafrr vswr v (4) Jargmr Gl |

Which of the following are responsible for differentiation of embryonic

* clumps during somatic embryogenesis in dicot cultures ?

(1) Auwxin and Cytokinin (2) Auxin and Cytochrome.
(3) Ethylene and Abscisic Acid (4) Gibberellin and Auxin

Pofifee & @ @, fedorei st ¥, o quigweT % dhw

oigwd Ysit & fdet & fag suErl @ ¥ 7
(1) o 9 aEdertea (2) T ¥ gRdm™
(3) zawmEN 9 Tafalm eoww  (4) Riedww 9 etitee

The first human hormone produced successfully, using biotechnology, was :
(1.) Adrenalin (2) Calcitonin

(3) Human Growth Hormone (4) Humulin

S & I ¥ aEwEEe SO AT T AME TN o
(1) e @) e

(@) ' W EwEE @) e
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72  Flavr-Savr tomatoes were produced by blocking the expression of gene
responsible for production of :

(1) Pectinase (2) Polygalacturdnase

(3) Amylase (4) Chitinase

Rt A T W ok T, 3@ A A o @ omE w,
SUCEECIC AT I

) U T kg () dReeede SR 3
(3) TIENS SUES ¥ (4) WERAY SOEA ¥

73 "Golden Rice" is enriched with precursor of which vitamin ?
a A 2) B
® c @ K
‘e e g frele ¥ gl § g dw € 7
1y A B (2) B

G C 4 K

74 Genes which permit identification of recombinant clones are known as :
(1) Adapter gene | (2) Expression gene |
(3) Linker gene (4) Reporter gene .
JErT wA % ofRrERe @ eRE H T S wea ¥
(i) TR W (2) UEEHIE S
(3) femy o (4) TRz =i

HES2 A ] 2 [ Contd...



75

76

77

An example of artificial chromosome vector is : -
(1) Cosmid (@ Fosmid
(3) Phagemid () Plasmid
FRM HHE YR T T wE o

(1) witers @) wiRgs

G) hetE @ il

The enzyme used to break phospho-di-ester bonds of a DNA molecule at
specific sites is :

(1) Endonuclease (2) Ligase

(3) Lyase (4) Restriction endonuclease

AT o ¥ R ww F wiw-oE-TEx = @ 9 ¥ wge
fod oM T gemE ¥ |

(1) TSR @) W
(3) B (4 iRzem weiglmas

Successful establishment of a migrated species in a new area is

termed as:
(1) Aggregation (2) Competition
(3) Ecesis (4) Stabilization

m%qﬁiﬁ,qﬁwﬁfﬂsﬂi}%ﬁﬁwwﬁrwﬁm%}
(1) wgE @) vt
(3) eTEUE @) e
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78

79

8¢

Which of the plant species represent the submerged stage of hydrosere ?
(1) Eichhornia and Trapa (2y Juncus and Carex

(3) Dpha and Rumex (@) Utricularia and Elodea
ﬁﬂmﬂﬁﬁﬂﬂﬁwwﬁﬁmﬂ%ﬁqﬁmﬁ
ot ¥ 7 o

(1) omgEIRRT I () wwg T #EE

() ZweT T [T @) gRgaRar @ R

Monoclimax theory of climax community was proposed by :
(1) Champion (2) Clement

(3) Tansley (4) Whittaker

Which of the following is a non-biodegradable material 7
(1) Cloth (@) Lead

(3) Leather (4) Wood
Wﬁﬁ%ﬁﬂmw&aﬂmmﬁﬁwﬁ% ?
@ @ @) W

(3) = - @) TN
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81 Which of the following biogeochemical cycle is of sedimentary type ?
(1) Carbon (2) Nitrogen
(3) Oxygen (4) Phosphorus

Frfifas & & ¥ @ Sa—y<amte % s@Er @@ TER 5
W E 7 | |

(1) wE . | () g

() omET (4) wIERE

82  The organic gaseous pollutants of air are :
(1) Carbon-mono-oxide and Sulphur-di-oxide
(2) Fluorine and Ammonia
(3) Hydrogen cyanide and Peroxyacety!l nitrate

(4) Nitrogen oxide and ozone

@ % wHm A T ¥

(1) oETHR-ofaRs T Svei-SE—otirags
2 wWE T emtm

(3) TEESE RS 9 ToTE THREE 5T

(4) -EASE ofiFEEs g NN
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§3 Ambient noise standards for residential areas during day and night are

respectively
(1) 50 and 40 decibels (2) S5 and 45 decibels
(3) 65 and 55 decibels @ 75 and 65 decibels

ol as ¥ R WA ik AFe R w iy ¥g wew ¥
(1) 50 @ 40 sfyEw (2) 559 45 =a

(3) 65 T 55 " @) 759 65 St

84 Which of the following is not used as a assisted reproductive
technology ?

(1) Intre-Uterine Insemination (TUT)

(2) Intra-Cytoplasmic Sperm Injection (ICSI)

(3) In-Vitro Fertilization (IVF)

(4) Coitus on days 14-16 of menstrual cycle

Pt & ¥ B weEE W wodE B v ¥ wW A 98w ?
(1) o auive FiEe (9d.q.em)

2) o @ Fe gEy smad (5%

@) TRE fRw (ErEATs).

@) _Wﬂ ¥ R 14-16 ¥ {7 e
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85 Which of the following phase. is not. associated with menstrual. cycle of
human female 7

(1) Follicular phase

(2) Phase of sexual heat Libido'

(3) Menstrual phase

(4) Luteal phase
ﬁwﬁ@ﬁﬁq@r&%@ﬂ@rﬁwwwﬁmﬂﬁ% ?
(1) ghwwma (BfwrER) wE

@) FERET

(3) el (mrEErd) Im'aw

@) G (ghaw) waen

86 Which of the following is not a male hormone ?

(1) Androstenedione (2) _Dihydroxytestosterone
(3) 17 p-estradiol (4) Testosterone

Prer F ¥ @9 @ W gE @ ¥ ?

(1) TEEFEEE | () TEEERERN SRR

@) 17 p ugEEw (4) TR
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87  Foetal membranes of a mammalian embryo are derived from
(1)  Granulosa cells
(2) Corona radiata cells
(3) Trophoectoderm
(4) Toner cell mass |
A & g # oyn Rl few @ soet Oy 3 P
() Fgde e &
(2) BT WA Fidwet q
(¢) Twwmaed @
4 oie Bl T ¥

88 Identify the milk ejection hormone (s) :
(Il) Vasopressin
(2) Luteinizing hormone {(LH)
(3) Follicle stimulating (FSH)

(4 Prolactin and oxytocin
3 T e afetrr

(1) =R

@ wfemERtt TEE (W )
) gewi w (T T o)
() vnfEs T afeaim
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89

90

In human males the synthesis and secrefion of androgen hormones from
testis is stimulated by -

(1) MSH (Melanocyte Stimulating Hormone)
(2) LH (Luteinizing Hormone)
(3) TSH (Thyroid Stimulating Hormone)

(4) ACTH (Adreno Corticotrophic Hormone)

w%m'ﬁ@@ﬁasﬁﬁ%mﬂwamwaﬁaﬁﬁam
ST ¥

(1) MSH (feFieEe W& M) &z
(2) LH (gdrmhim smit) & zm

() TSH (viRig® W& sm@F) % g

@) ACTH (fFiefszim s ¥ zm

The secretory function of the corpus luteum is maintained by :
(1) Prolactin . (2) Estrogen

(3) Progesteron (4) Oxytocin

B FRam & =@ W 9T @A b o

(1) W 2) '

(3) WA (4) s
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91

92

In a transverse section of Mammalian seminiferous tubule which of the

following is not present ?
(1) Spermatocyte (2) Spermatid

(3) Immobile spermatozoa (4) Mobile spermatozoa

Tl B g ANET % OuE wie W Freifed § @ @b @ suRed
T B E 7

(1) ] i 2 wfes

() erfydier g (4) . nfasha g

Which of the following is not a function of a placenta ?
(1) Sex steroid secretion

(2) FSH and LH secretion

(3) Human chorionic gonadotropin secretion

(4) Relaxin secretion

B A N ¥ B e (Ew) WO E 7
1) Fr=ERgs w@aw

(2) T U@ U9 991 T@ T W Fal

(3) W WS TSR @ Fan

(4) T &1 gaw

HBS82 A] 40 [ Contd...



93

94

Identify the set of hormones that induce(s) prohferatwe endometrial changes
‘n mammalian uterus that prepare it for blastocyte implantation.

(1) Corticoids and somatotropins

(2) Estrogen and progesterone
(3) Relaxin and Oxytocin
@) TSH. and thyroxine

W%ﬁsﬂ%mﬁm%ﬁw%ﬁﬁﬁaﬁmﬁ
e @ G W AW T @E W e

(@) Tawdm am T

(4) Auwgge. (TSH) @@ AR

Archaenteron is formed in :
(1) Morula (2) Blastula

(3) Gastrula 4) .Neurula
RN (e @& fefw fan ¥ o
(1) Wrewr (2) = A

@) g ¥ @ e q
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95

96

97

The mesenchymal cells which aggregate to form blood island are called ?
¢! Haemob}aét {2) Mesoblast

(3) Fibroblast (4) Angioblast

g BT S e f @@ SR d9 W ¥
TEAR § 7

(1) e | 2 P

(3) s @) OAtwEEE

The part of sperm that contains hydrolytic enzyme is called :
(1) Head (2) Mid piece
(3) . Lysosome (4) Acrosome

B & T8 Wi R Tw@-orEsiver (eEgitaies) fevaw €9 ¥ S
wEd & 7
(1) i 2) W= Wm

(3) wEHEN ) T

Select the correct statement :
(1) The uterus of human female is bicornuate
(2) Rats and Rabbits have simplex uterus

(3) Estrogen and progesterone help in implantation of blastocyte on
uterine endometrium

(4) After puberty uterus loses its cyclic change capability
T FUF W T B

(1) 7Fa " & T sl e ¥

(2) WuE® JU GO B THE T ST & |

() UL qar NRwM Wi § TemeiEm Wl yu (WEeRe) &
Aoy & R AR ww@ R

(4) deTERar & QAR THIIE AT HUE QEE B GG @ I $
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98 Photorespiration is stimulated in which of the following conditions :
(1) High CO, (2) High O,
(3) High CO, and low O, (4) High O, and low CO,
Preifea e Twmel ¥ wamer-gaEs sAfw wer ¥ 7
(1) = €O, @ w0, |

(3) @= CO, v F= O, (4) = 0, 7 1 CO,

99  Opening and closing of stomata is controlled by
(1) . Ferric ions (2) Potassium ions
(3) Magnesium ions (4) Zinc ions
=R & gen | 9 o FEhe a -
(1) e o = ) dRRwEm o w5

@) THREw aER @ @) Fiwm o '}

100 In photosynthesis, the first stable product of Calvin cycle is -
Oxalo acetic acid (2) Phosphoglyceraldehyde
(3) Phosphoglyceric acid (4) Ribulose-1, 5 - biphdsphate
maiéa?rw%?mﬁaﬂwaﬂummﬁm%:
(1) s cfifems o @) welTEieTEs

@) wERiwEE 9o @) TEAW-1, 5 - TR
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101 Which one of the following molecules, connects glycolysis and Kreb's

cycle 7

(1) Acetyl CoA ' (2) Citric acid

(3) Oxalo acetic acid (4) Pyruvic acid
ﬁmﬁf@ﬂﬁ%ﬁﬁmaﬂmmmwaﬁﬁﬁw%
(1) Thremw H-TEET @ uEe ok

G) ofw fim s @) TEeRE R

102 Match List-I and List-II and select the correct answer by using codes given
below the lists : :

List-1 (Plant hormones) List-11 (Discoverer)

(A) Auxin (i) W. C. Liu and H. R. Cairns
(B) Gibberelling (i) EW. Went

(C) Abscisic acid (iti) Letham and associates

(D) Zeatin (iv) T Yobuta and T. Hayashi
Codes :

O A6, ®)G);  (©)-G); D))
@) (AG);  @)-0v); ©-G0; O
@) @AGi; @)-); ©-v; @O0

@ Qi) @) (O, O-G

@Iﬁ@ﬂ%gﬁa%@am@ﬁ%%ﬁq@@ww
@ TY G T B T HINE

TRl (TR TEE) TH-11 (@) |

(&) | () e @ T T AR I
B) Rt (i) TH SEE. AT

€) dfatew ok (i) Wem g wEarm

D) faafes Gv) & dga I & el

T

Q) (A @)-G);  (©)-G); (D))
@) @W-G);, B)-Gvy (©)-0); (D))
@) AGi); ®)-G); (©O-v;  OHD

@ (A-Gv); B)-G);  (©-G); O
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103 Opening of a floral bud is an example of :

(1) Epinasty (2) Hyponasty

(3) Thermonasty (4) Thigmonasty
T Y9 wive #1 fgw, sgmr o

(1) Sulafead = C @ HgReEd W
@) TEggET w (@) weiggE @

104 Which one of the following elements is a micronutrient for plants ?

(1) Magnesium (2) Manganese
(3) Potassium (4) Sulphur
ﬁwﬁr&wﬁ@raﬁqmaﬁwﬁﬁgﬁmﬁwﬁm%?
(1) #we (2) A==

(3) URREH 4) T

105 Representation of a wide range of data in the form of a circle, which is
divided proportionally to the size of data, is called :

(1) Pie diagram n (2) Psi diagram
(3) Chi diagram (4) Bar diagram

T fogd W & aiwst @ g9 ¥ we § Pegw, @ wies b e
& waguies v @, weomn &

(1) R ™ () WE s
() % smw (4) IR SN@
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106 In a moderately symmetrical distribution -

(1) Calculate que if medi#n and mean are 24 and 25 respectively
(i) Calculate median if mode and mean are 30 and 33 respectively
The answers obiained are :

1y @) 32 Gi) 23 @) (i)- 23 (i) 22

3) () 22 (i) 23 | 4) @ 22 G 32

TF WU g de N

() wEEH @ W B, ok aftmer wF mer wuw 24 T 25 @

(if) mﬁwﬁm,uﬁw@wmsr: 30 9 33 &

(1) @) 32 Gi) 23 _ @) @) 23 @) 22
(3) @) 22 (i) 23 @ (@) 22 i) 32

107 When N is the natural number the standard deviation (SD) of first 10 natural
" numbers shall be :

(1) 3.87 2) 8.25

(3)' 2.87 (4) 10.89

W9 N urpfas @& &, & 799 79 TR deielt 1 qMe Rraes &
(1) 3.87 (2) 825

(3) 2.87 (4) 10.89
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108 The value that occurs the largest number of times in a series is

known as :
(1) Mean ' (2) Mode
(3) Median {4) Arthmatic mean

O P N R S S LI —
(1)) e ?) wEw

(3) after @ anm e

109 According to Addition theorem of probability, the probability of success
in getting Head on tossing a coin is :

(1) P (Head) = P (Head OR Tail) — P (Tail)
@ P (Headj = P (Head AND Tail) — P (Tail)
(3j P (Head) = P (Head AND Tail) + P (Tail)
(4) P (Head) = P (Head OR Tail) + P (Tail)

wiedell & 9 F W F OYUR, T UEs % dulEmw gy, o wite
% GHAT B WG BT & :

(1) P (W) = P (& o1z g=m) - P (9W)
(2) P (3d) = P (s ot g=!) - P (=)
(3) P (3¥) = P (30 wd g=®) + P (YW)

(4) P (30) = P (30 oreen gem) + P (TW)
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110 The direction of regression line is indicated by :

111

(1) The absolute value of intercept
(2) The sign of intercept
(3) The absolute value of regression co-efficient

(4) The sign of regression co-efficient
wlseaer var & faen E&lﬁ Bl ¥ -
(1) HH'@“G % Frdeme @

() ofme ¥ frw Em

(3) vheeww Uie % PRUE 9w BN

@ e iw F fae @

Which form of chromatography does not utilize the mobile phase for

interacting with the analyte ?
(1) HPLC (2) Paper chromatography
(3) Gas Chromatography (4) Column chromatography

fog yar H oifaa, s ¥ o ¥y Rt ween & s@T
T HH § 7

1) wa W uw 9. (2) UYT Ui

¢) r widfe (@) @t it
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112 Which one of the following is made use of in ELISA to identify a
substance ?

(1) Antibodies (2) Antigens
(3) Cytokine , (4) Detergents

ﬁﬁ%ﬂgﬁﬁﬁ_maqﬁvELISAﬁ,%@wé%mﬁﬁW%@
fpar smr & 7

(1) vl 2) wias

(3) wEAEET (4) eTlH

113 Which type of wavelength is made use of in colorimetry to determine the

concentration of a solution ?
(1) Fixed wavelength in visible light range
(2) Precis%: wavelength in visible light range
(3) Ultra violet wavelength

(4) Infra red wavelength

mﬁﬁr&ﬁﬁmqﬁmwmﬁ%%q%&m_aﬁm—%ﬁ
® ST fr Swr ¥ ¢

(1) 39 v T § PReg aor duf
@) 397 T wWE § afige v v
(3) Tl 2w

(4) ot g duf |
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114 Which of the microscopes allow micro-organisms to be seen alive and

without killing, fixing staining and mounting ?
(1) Fluorescence microscope

(2) Confocal scanning laser microscope

(3) Phase contrast microscope

(4) Bright field microscope

g gemel a0 genliel &, ﬁmqﬁawﬁmﬁaﬁw a{ﬁqm:ram
R f6d, Gﬁhﬁmﬁ%mmﬂaﬁn%? | |

(1) vl et
(2) wN FHEAE A YRl
() W R ekt

4 gqérta & gl

115 Pheromones in Silk moth serve as stimulator of -
(1) Sexual behaviour (2) Aggressive behaviour

(3) Paternal behaviour (4)  Territorial behaviour

WA & Bl ¥ BREE IRe v ¥
(1) @R =R (2) AHED HIEK

(3) Ig® =R @) %’ﬂww_j
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116 In insectivorous bats, feeding behaviour is related to successful

117

118

function of :
(1) Eye (2) Nose
(3) Sonar system (4) Echolocation sensor system

Hrewell TaTEsf F SN WV e o sk el a%w @ ol
g ¥ ? - '

(1) == Q) &

(3) WY g | (4)uf%raaé?ra—a€raww

The worker Honey bee performs the following type of dance before the
fellow bees (in a hive) when the nector is about 100 meters away from
the hive

(1) Waggle dance (2) Circular dance
(3) Straight line dance (4) Cross dance

st nyg T Bra T @ 7 e g (@ s X A ¥) & wen
T & A9 AHE B ¥ 100 WX W W W

1) W 2) =g T

(3) W e g @ T fuE 3

Which of the following are hot spots of Rajasthén ?
(1) Bharatpur Lake, Sariska Forest and Thar Desert
(2) Bharatpur Lake, Sariska Forest and Tal Chhapar
(3) _Sa_mbhar Lake, Sirohi Forest and Tadgarh

(4) Sambﬁar Lake, Sirohi Forest and Tijara
frefafed § ¥ (oraN % de-diz B ¥ ¥ 7
(1) ¥R 9w, shew a1 9 9 |

(2) WO AW, Wi & T AW B

() W AW, A a7 T =

() W dw, R T R
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119 Tadgarh-Raoli Wild Life Sanctuary area is located in the Aravalli range
passing through which of the following districts :

(1) Ajmer, Pali and Rajsamand
(2) Ajmer, Rajsamand and Udaipur
(3) Bhilwara, Pali and Rajsamand
(4) Bhilwara, Pali. and Udéipur

m—mﬁﬁwvﬂﬂmﬂm@éﬂﬁﬁﬁﬂﬁﬁﬁ%%ﬁﬁhﬁw
W e udd geen f Rag ¥ 7

(1) SoFR, il 9 g
(2) O, IWEHE 9 S
() WeEE, T T EEE
@) AR, oW T AR

120 Which of the following plant species are endemic in ‘India ?
(1) Atropa beladona and Morus alba
(2) Bombax malabaricum and Datura metel
() Feronia limonia and Vitex negundo

(4) Ficus pumila and Coffea arabica
Prefefed & ¥ @9 & oy wofel wRa ¥ Rgwad ¥ o2

(1) Tehr swshr 7 Ta o

(2) =T wmERen T sz fred
@) w3 Tt 9 wsEw Agst
@) W‘gﬁmaaﬁﬁm@ﬁw__
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121 “Learning is the modification of behavior through experience and training".
It was stated by :

(1) Gates (2) Colvin
(3) C. E. Skinner (4) Prassy

“Erfbqua‘aﬁua%maamﬁaﬁmﬁvﬁaﬁﬁmm
®ed ¥ qe waT fvem § 9w b

1) E (2) R
@) @ ¢ Ry @) N

122 A child starts learning -

| (1)  When she/he is admitted to a school.
(2) When she/he starts talking.
(3) When she/he moves out of his home
(4) Since his birth
% W aww e gw wwer ¢
(1) w9 9@ faoea § W@y Romr wmar 3
(2) = ¥® S gE war B
() ¥ 9% W ¥ T Frewar &
@ &= 5= ¥ A

123 Development of capability is another name for :
(1)  experience (2) maturity
(3) physical development. (4) skill development
gl & R w1 @ am v o
(1) sigwe () uftween
3) wifw fem @) B R
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124 Psychology has made education :

(1) Curriculum centred (2) Teacher centred
(3) Child centred (4) Subject centred
WAt e @ o Ran ¥ o

(1) urerEt Hik @) e Hha

@) =@ Hba @) foww @fha

125 Which of the following is not included in the three relationships in
education according to Ryburn ? :

(1) Relation between child and teacher

(2) Relation between child and society

(3) Relation between teacher and subject

(4) Relation between subject and child

frafifaa A & @ @ ¥ oErR e F T dddt ¥ aftefwa
7 __

() = ofx B ¥ dey (2) == o} W § ey

(3) Twem oy g ¥ gy (4) Twg oir s= ¥ d9u

126 Learning dutcomes means |
(1) Change in the behaviour of the student
(2) Change in teaching method of the teacher
{(3) Reorganization of the subject matter
(4) None of the above
(1) W% & =EER ¥ B 9@l iEad
2y e ot e ey § ofeds
() ey W AR
() sogR ¥ ¥ B T
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127

Which of the following is not a characteristic of adolescence 7
(1) Physical changes (2) Stability in behavior
(3) Problem of instability (4) Emotional problems

. Prafaiaa & S feeiroeer &1 weor a8 & 2

128

129

1) it afEeds 2) =wer # R
3) e &N wweEn (@) M arEny

Educationél psycﬁqlogy helps a teacher for
(1) geti:ing. knowledge of child devefopment
(2) knowing child’s nature and behaviour
(3) character development of children

(4) all the above

o wEiREW fhee B /e @ o

(1) % fyom & 99 = =@ A
(2)WWWWW%?T
@) == % whm Fror
@ s wf % fog

Which of the following is not an objective method of studying educational
psychology ?

(1) Experimental method (2) Clinical method
(3) Introspective method - (4) Observational method

Prafefea & 4 @ e Tikem & o @ agit Ry
P

(1) vwarmes Rty @) Jyas Ry

(3) onetrEe fafy @ e f4fy
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130 In which of the following instinct does not match with the related emotion ?
(1) Escape - Fear (2) Appeal - Wonder
(3) Combat - Anger . (4) Repulsion - Disgust
ﬁmﬁmﬁawwﬁxmwﬂaﬁm 7
(1) wwEd - W | @ W - ey

(3) JStEa — @y @ ofrE@ - g

131 The emotion which generally gives happiness is :
(1) Distress (2) Loneliness
(3) Hunger (4) Positive self-feeling
g S gEEa: g9 &l %’ :
() wem _ (2) TEEH
G T™ (4) omAfEN

132 Which of the following is an example of abstract sentiment ?
(1) Respect (2) Residence
G) Animal/ B (4) Anger
Prefife ¥ ¥ dv-w ol Wl W ¥ 7
(1) =R | (2) TrEm—Em

@) Y @ @
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133 Saying few words of sympathy to an aggrieved person is an example of :
(1) Active sympathy (2) Passive sympathy |
3) Personai sympathy (4) None of the above
Bl gEll =if @ e ¥ 9 e wen P Toen b
) whFE Fegf @ e wegaf
3) - wergafa 4) Tl & w T

134 What is not correct about the development of an individual;?
(1) It continues from birth to death
(2) Growth is a part of development
(3) Changes can be seen and measured

(4) All of the above
ot iR & R % ddu ¥ T owd W Y 7
() =& 5 § 7g 7% W wa ¥

@) 9\, Rem o @ R ¥

3) qﬂaﬁﬁr%@raﬂtwmm%!

@) SE Gl
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135 According to Stanley Hall :
(1) Youth represents the energy of the present and the hope of the future.
(2) Adolescénce is a period of great stress and strain, storm and strike/
(3) Adolescence is a tide which begins to rise in the veins of youth.

(4) Adolescence is a shift from childhood to maturity.

BN T % FIEN

') ﬁﬁshaﬁqﬁa?rsﬁaaﬂ'{mﬁmnﬁwm%l

(2) fTeatmn = €Uy, ama,wamﬁﬁuﬁm%t
3) %ﬁmwm%ﬁwﬁﬁﬁmg@ﬁm%!

@) Tl <aow 4 witwgmar & 6K T B

136 Which of the following is not a characteristic of adolescence ?
(1) Physical development (2) Mental development

(3) Importance of group (4) Fast adjustment

Frefafgg & @ Sl Reaierar @ Rgwa S % e
1) e o (@) Uk fGem

(3) wTE @ T 4) qAT GEEE
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137 Learning related abilities may be developed among children ;
(1) Through creative activities
) Through self expression
(3) "_fﬁmugh cooperative functions

(4) Through self assessment |

e ¥ ot et el 1 R S
(1) o B &

(@) o 3

¢ W T @

4) aﬂéqq'ra?r g

138 The factors like fatigue and illness mainly affect
(1) .Emotional development of child
(2) Physical development of child
(3) Will power of child
(4) Self confidence of child
e ol il Y FRE ger w9 ¥ wRE w ¥
1) T F e R @
(2) s % e fom =
G) R 7 vew wE B
4) | aér & refayaE @
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140

141

"Learning is a process of development". Who said this 9
(1)  Woodworth | (2) Thorndike

(3) Morgan (4) Cronback
W, fow @ wiear 3 T e wEr g 7

(1) gt | @) uriers

() == @) wEs

Which of the following ié not correct about leaming ?

(1} Learning is doing some thing new
(2) Learning is organisation of experiences
(3) Learning may be without any purpose

(4)  Failures in learning are failures in understanding
ﬁﬂ%ﬁaﬁﬁﬂw—mﬁ@%%mﬁaﬁﬁﬁ% ?
(1) e 38 71 Ty 3

@) WET sgwet B ey By i

Which of the following is the primary Thorndike's law of learning ?

(1) Law of use (2) Law of exercise
(3) Law of assimilation (@) Law of disposition
ﬁﬁﬁf]i‘gaﬁ@rﬁa—mar%quwg@:mﬁmwﬁw% ?
1) SwE Fr Frg @) o=@ @ Fram

() oefwr W frm (4) =g @ Py
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142 Which of the following is not a stagnation in effective learning ?
(1) Lack of motivation (2) Not relating to life
(3) Learning situation (4) None of these
Frafafgg & ¥ F-w wwdt ofimy &1 oedus W@ ¥ O?
() W H @ <hew ¥ 7 sem
@) o et @) T A W

143 Which unit of computer has the power of doing complicéted calculations ?
(1) Input unit (2) Memory storage unit
(3) Central processing unit (4) Output unit
X H Y 3HE ¥ wfeqd TEW W & G ' ¥ 7
) owwE @ g e g
(3) *Em TRRiT @R (4) W TR

144 Which of the following is not an activity aid related to teaching learning
materials ?

(1) Over head projector (2) Dramatics
(3) Demonstration (4) Field trip

frfafag & € @9 e ofirm amfiel § ddfte o Tty geee
e T F 7

(1) o9y ¥ wioree] Q) &

3) westH (4) & wAw
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145 In the classroom the type of communication is/are :
(1)  Verbal interaction (2) Non-verbal interaction

(3) Both (1) and (2) (4) None of these
mmaﬁmw_w%m%/%’ :

(1) ies aig:Rem (2) awmies eia’r"m”m
G =) shr 2 L@ T oA e A

146 System approach to instruction is :
(1) Teacher centred (2) Child centred

(3) Classroom centred "(4) -Problem centred
ATIE B T SUH T
(1) e ke ) I FhE

(3) wuwy Bi @) Wé}?&a

147 Example of learning by group methods is / are :
(1) Discussion method (2) Workshop method
(3) Seminar method (4) All these o
vE RRet o @Y @ saen &
(1) amfEw fafy (2) wrfsren Refy
_(3)_%7:‘1%%‘ (4) T wf
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148 Which of the following is not correct with reference to adjustment ?
(1) It provides balance
(2) 1t solves the problem
(3) 1t is not a continuous Process

(4) In the absence of adjustment one is surround by tension, struggle
and anxiety.

e % W ¥ Prefien ¥ 4w owd w@ ¥ 7
(1) o6 9w WA w ¥

(2) azww-m_w&rﬁm%l

() =% Friay o Il wiem T ¥

@) W @ oguRaRy ¥ wRe ae, W ok Rimet ¥ R
b _

149 One of the environmental factors affecting learning is :

(1) Social surroundings (2) Fatigue

(3) Mental status o (4) None of these
afrE & gl S W AT eRel ¥ ¥ @ ¥
1) wmtss 9fEy (2) uHEe

(3) wEkE WX @ T ¥ B

150 Which of the following is a characteristic of mentally healthy person ?

(1) Tolerance (2) Self-confidence

(3) Emotional maturity (4) All these

Prafifen % § Fe-w Aive wY ¥ Ty ARG W oWy 7
(1) geiEa () oA

() U aiygdE 4 ¥ wf
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